1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17
A A
X
1
. 9 min ]
D
2 1
-
B @ F | B
| - | 2 [
W ater cooling inltet/ouflet D
T Cable output o ]
See page 7 W ater cooling Inlef/outlet - [ 140.2 _ = |
O
Zx_0-ring seal - L2403 _ o
Cable oufput =
C See page 2 C
N1-1 x | B
i — O N O N 01 Nmhsa s L ¢ 7‘ ~ S
e RN AN OIS ——— L Ry e T — Q@ : O o
I | BL68
e Q. | B3
7 | \\\
B —
D ‘ , L ‘ T \, D
= @ ~ 1 K& @\ P60
/ o } \\\\\ N .
|dentification labels |
L @1/ Q } &} \@
ya | \ L
/’/ y | h < ‘\\\
o | L=40.1 _| 37.540.2 /// ®/ : \Q ‘\\
/ , | . \
E % E L 3 +% .5 /’/’ /,/ } \\\ \‘\\ E
— — / / i \\\ \
v A E 139 © / § 1o}
(D L51) = o — / @ : @ \ (DL51)
a @ E ‘/‘/’ / : \\,\ \
- I - & (1= | : i \ I —
> i S |[|m| 5 , f ! w <
o - OO : E [ 1 | o
= PSS S R R - Ot o R S =
= S T g | P -
! = . = | ‘\ ‘ : | !
F > = - > \ \ | i j F
- RSN & \\ @ : @ ’/'/
= a \ \ ! / /
@ . @ \\\ : /’/ @
N - = S 5 -
[dentification labels — \ N : / 7 [dentification label
Q \\\ % /// @
G Q | /5 G
/Y \\\ \\\\@ : @ /// /’/
\\\ N ! / P /,/
! 78 47, o o | - 9
= W/ T = e —
7 VYA 7%, N | s
| RN pt ’ 2
N A\ \\\\@\ | a -
H e P\ ‘ e e o - H
| ( \
N7 x M8x15 ‘ N7 x M8x16 L L1 P T NT x M8x15 NT x M8x15
0.3 |C|C-D | 0.3 [A |A-B T , 0.3 [A |A-B 0.31C|C-D
& — & Rotor inferface & &
® 0.3 | 0.3 A 7 Only one should be used U U ]
J
J
<
B Magne! safety clearance
u Y 5 E -
5.7 ol =
™ [@N
N -
K& / K
T N
L , , / o
Designation |1 W 3 L4 N N2 3 - I |
TMB+0450-030 90 63 10 3] LI O L b g !
] TMB+0450-050 | 110 | 83 5 12 12 | 30° 1£02_1 1. 3£
TMB+0450-070 130 103 7] 10£0.2 — 26%0.2 — Y Text: ICDhZ:ZebZ: C075986-36
Released: 06.12.2021
TMB+0OL50-100 160 133 15 10 | 19+0.2 3540.2 E‘@ Original drawing TMB+0450-##H-#H#HHH-O#-AAQ Tolerancos as pr 150 8015 2011
Scale Format olérances selon :
0 ———— TMB+0450-#Ht-#tHHE-O#-AAO ———
— IMB+0450-150 | 210 | 183 157 24 23 | 15 omensonsinl - 4:2 | A1 iting Dimensions / Cates dencombrement Dimensions uthoutolerance. . ,2
M TMR+0L50-200 | 260 233 207 1 i Olfoncars il be heid iable for the phyment of Gamages, All ignts r6aarued i ihe svent of (e Grant of & patnt utity madsh or desian. (166 16016)
- ETEL 176871-05-G-01 1
otiers - - -
1 | 2 4 5 6 7 8 9 | 10 11 | 12 ‘ SWITZERLAND ocument nimber 2



2 | 3 4 5 6 | 7 8 9 10 | 11 12 13 14 | 15 17
Type Type 27 Type 3 Type 4
87 Max
A . 87 max 07 max A
max
r—’ Cusfomer's housing must Bbe / :
Customer's housing must Bbe L85 HB (E Cusfomer's housing must be
, © , e [uig%mﬁ% SCEDhousm must be
(0) L85 HB © L5 (D6) L85 H8 © Sensor cable 8x0.25mm?
- Max Sensor cable 8x0.25mm?2 / ° / B |
i i . ! ‘ ‘ ! S ! i
N o~ o~ I = o~ /‘O iSD — — / - . - ==
. . . = | = -0 -9 & | — B4 |
o ~ ol N - — \ o By //Q 2h\V//2h T ‘ _ i | !
B - T - \ | \ m = 1 : o~ B
o ‘ - I _ i
| % D R an ] 7 | - e
— 0o Sl —5 o o~ ER=5 o i
- o) S z N@ -
o c
/=2 3 20.442 _ 00442 2x (BD) = $385.4 min
g Power cable 4xS 5 \
C Sensor cable 8x0.25mm 2 Sensar cable 8x0.25mm? 5 C
- L6 max _
D Wrench size: 13mm Wrench size: SwWmm Wrench size: 13mm Wrench size: 13mm 2x_wrench size: SWmm Wrench size: 13mm Zx_wrench size: SWmm D
\\
| \ I
| \ | | T | O (D) F
E | | | NN T e E
: : T T - =% N !
= = - — UL . 5 - S
- S S E = E > [
F F
G G
H H
®
Designation output fype |2ZIP8L s | e | W1 | H2 | D | sw |Bending
SeCtion radius
J [-] [-] (mm?2] | Imm] | Imm] | [mm] | Imm] | [mm] | [mm] [mm]
J
. er e ot TMB+0450-#4- VA4S Type | : 30.5 | -
& TMB+0L50-##4#-VA#E# Type 2 15 57.5 38.6 | 27.8 9 1
N | _ TMB+0OL50-##4-W A4S H# Type ° - 30.5 - °
- Phase 1 = wire T Motor family 0290 -
Phase 2 = wire 2 . I a 0360 TMB+O450-##4-W A#L# Type 7 51.5 36.6 | 22.8
Phase 3 = wire 3 X ° 0140 0450 .
o T o - - TMB+0450-###-VB#SH Type 1 ] 325 | - .
0201 0760 TMB+OLS50-##4-\VBH#E# Type 7 , 53.5 38.6 | 27.8 1.9 %QQ
KX | 0990 B B B B B : L K
Sensor table connection: “P” or “T” configuration Connection 1291 IMB+0450-030 To O/0-WBH#S# Type | 325 é 3
| | T — S S S TMB+0450-030 to O70-W B#L# Type 2 53.5 36.6 | 27.08 E% !
| White Brown Green Yellow Grey Pink BLJu_e Red Creen — Yellow Srace 3 Shace o oo T TMB+0L50-100 to 200-W B#S# Tyljg ’ 4 _ 35.5 _ 1S 24 g B% B
J'Sensor J;ensop Zensop 1o Grey - Pink Phage 2 Phace 1 Phase 3 TMB+0450-100 to Z200-W B#E# TYD@ / 59 [5.9 26.8 - - o
: : ; T TMB+0L50-###-VD #S4# Type 1 - 38.5 | - TP
[
SNM 120 TMB+O0L50-##4-VD #L # TYD@ / 10 6/ 45.9 26.8 17 5 ) 5 %
L 1 TMB+0L50-###-VH#SH Type 3 : 38.5 | o2
Configuration fype Sensor 0 TMB+0LS0-###-\VH#E# Type 4 - 158.5 - - 2 | o fomat 012001
= RE T TMBOLE0 225 W D 254 Tyne 1 ) 33 | o o LA T 2B OS2
B i ° 1 1000 TMB+0450-###-W D #E# Type 2 i 65.5 - L8.3 | 25.7 6 w12 M tingDimensons 1 Cotes dencamromen [ Ee 02
M TMR+OLE0 - a4 \W HeS e Type 3 B 33 ° Offendora wil b6 held iable for the.payment of damages, Al fonts resered in the vent o (e orant of & patant ity model of design. (180 16076
_ ‘Version‘Revision‘Sheet Page
TMB+0L50-##4-W HHL # Type 4 - 140 - 5112 Motiers 05 -C- 2
2 3 4 5 6 | 7 | 8 | 9 | 10 | 11 12 E TEL SWITZERLAND 1176?1125 C-01 «




1 2 | 3 | 4 5 | 6 | 7 | 8 | 9 | 10 | 11 12 13 14 | 15 | 16 | 17 | 18 | 19 | 20 | 21 | 22 23 24

TMB+0450-###-#HH#-AH#H-AAQ TMB+0450-###-#HH#H#-R#-AAQ

T

| 886200 A0

(Annex to interface drawing 1176871: please check for motor and cable output information) (Annex to interface drawing 1176871: please check for motor and cable output information)
59.5 max
& 1.2 AB D
pxponiso iz o : :
ONLY FOR HYDRAULIC FITTINGS 13.5 . 13.5 N & [24 |AB 2 A 24 AB
& 6/ABIC T I I B
499.5 max —
C
X o N *
O o D
! — 10O B | N
E
O O
®)
F
G
H
- —» B
= — —>» B £
E E 13.5 13.5 m
i K
I © ) 2x Port 1ISO 11(22}513 -1(233/8-N I © 9. |
5 mi
| ONLY FOR HYDRAULIC FITTINGS )/ * i
o | o e | o
©] © © © 2X N
Do not use these surfaces | | Do not use these surfaces | | 0.3 D ~
to handle the motor | o | o to handle the motor ' e /G% , 1F 5
TL \(  “ y
! © o L © @ @
‘ | 1o
“ = L ﬂ: L — “ Sy L ﬂi — O
: % =10 : % =L
= .| 3 . F
L
-» A
- -» A
Designation L2 M

TMB+0450-030 63
TMB+0450-050 83
TMB+0450-070 | 103 N
TMB+0450-100 | 133
TMB+0450-150 | 183

N
TMB+0450-200 | 233
P
Q
ID number:
Text: - Change No. C117693-07

Released: 11-Jan-21

E @ Original drawing TM B+O450-###-#####_##-A AO Tolerances as per ISO 8015 : 2011

Scale ‘ Format Tolérances selon ISO 8015 : 2011
Dimensions in . TM B+O450-###-#####-##- O Dimensions without tolerance 102

mm 1 2 AO Mating Dimensions / Cotes d'encombrement Dimensions sans tolérances )

The reproduction, distribution and utilization of this document as well as the communication of its contents to others without express authorization is prohibited.
Offenders will be held liable for the payment of damages. All rights reserved in the event of the grant of a patent, utility model or design. ( ISO 16016 )

ETEL EIEL'\?.A. 1 2201 09 ‘ Vasg Re'\gs\ion(s)he;t Pa19e
oOtiers i ) ;
1 2 3 4 5 6 | 7 8 9 10 11 12 | 13 14 15 16 | 17 18 19 ‘ SWITZERLAND Dooument number f




	Feuille 1
	Vues
	new_view_1
	gauche_2
	gauche_3
	new_view_4
	X
	Y
	Z


	Feuille 2
	Vues
	new_view_8
	new_view_9
	new_view_11
	new_view_13
	new_view_14
	new_view_16
	new_view_17
	new_view_19
	dessus_21
	dessus_22
	dessus_23
	dessus_24


	TMB+0450-CC.pdf
	Sheet 1
	Views
	new_view_29
	top_31
	new_view_32
	new_view_33
	top_35
	new_view_36




